BRETFAN 1XAEBR 27T 3TDXKLE 01

1. ROFHKX»Sz:yZROL. ZE Lz, yDELEH5H0TEEVDDET S,
(SH358, Af50%, BR143r208, C#3%)

(1) 9y —3z) =6(3x —y) ) = —62y _ 2 ; 3y

2. ROFEMADPSz:y:2ZRDX. 27 L, y, 2OENDOTIERVDBDET S,
(S#es55®, Afk14r40%, B34, C#557)

x4+ 9y =52 T+y y+z z4+x
(1) { Y 2) > 3 3

z=3y—=x
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3. ROFHEADPSz:yzRDE. LKLz, yDELLHDBOTRRVDHDET S,
(SH35®, Afs50%, Bf14r208, C#H34y)

(1) 8(y—5z) = 12(2z — 2y) () 32 - S _ % —84y

4. ROFHEAD» Sy 2ZRODK. 7B L, y, 2DENDOTIRAEVHEDET S,
(S#es55®, Afk1340%, B#3 %, C#5%)

=z+x

Tr — 3y = 62 r+y _ y+z
(1) { @ 2 2

z=x+2y
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R#ETFALS 1RAEBRX 27T -37TOKRL 01 BEMES

1. ROFHKX»Sz:yZROL. ZE Lz, yDELEH5H0TEEVDDET S,
(SH358, Af50%, BR143r208, C#3%)

*2EH, 15ERX & HI3EHELS 1 DOXHTRES
ZITUE, HIZRE BRI TR, HBRO SN GLHOHITH .

(1) 9y —3z) =63z —y) (2) 96—62y _ 2x;3y
@ 3y —32) =202 -y & 2 —2y) = 3(2z — 3y)
< 3y — 9z =6z — 2y & 2 —dy—6z—9y
< — 15z = —-by & _dp =5y
< =y & dr=5y
& LoD —yzo
z:y=1:3 &ZX y 4

rz:y=5:4 -&FZX

2. ROFHBAD»Sz:y:2ZRDE. 2B L, vy, 2DEND 0 TIEERVLDHDET S,
(SHs58, A1 40F, B3, C#H549)

*3EY, 27HERX & 200FHEZRDD 1 DOEHTRES
2 I, HICRE BRI TR, RO SN LHEDOHITH S,

+9y =5z @ (2) vy _ytz _ z+x
W {w
z2=3y—=x @ 2 3 3
. . r+y _y+z  z4x .

* 1SCFWE (Z Tl 2 NETS ) 5= =g =k EBUL. (k£0)
@z OIRALT, r+y=2k @

x4 9y =53y —x) y+z=3k @
< x+4+9y =15y — bz z24+zx=3k @
= or=0y O+@+@ &V,
< r=y 2 + 2y + 22 = 8k

z=3*x—xr=2x

@-O&bh z=2k
rry:z=zx:x:2x @-@kH z=k
=1:1:2 —&Z @D-@kh y=k

xiy:z=k:k:2k
=1:1:2 -&ZX
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3. ROFHEADPSz:yzRDE. LKLz, yDELLHDBOTRRVDHDET S,
(SH35®, Afs50%, Bf14r208, C#H34y)

(1) 8(y—5z) = 12(2z — 2y) () 32 - S _ % —84y

& 2y —5x) = 3(2x — 2y) < 4(3z —by) = 3(z — 4y)
< 2y — 10z = 6z — 6y < 12z — 20y = 32 — 12y
< — 16z = —8y < 9z =28y
< 2x=y s T _8 .. 0
v 0 y#
z:y=1:2 -&FZX Sooxiy=8:9 EZX

4. ROFMAD» Sz y: 2% RODX. R L, y, 20ENS 0 TREVH D ET S,
(S#55%, Afk145r40%, B34, CHhs55)

W fTmee O @ ITEY_uti_..,

z=z4+2y @

@ % DIRALT, TEY _VEE ha=k EBU . (F£0)
Tx — 3y = 6(x + 2y) r4+y=2k @

& Tx—3y=6x+12y {y—l—z:2k (@

< x=1by z24+x=k @

v =15y £ QIRALT, Q+@+0 &k,
2=y +2y =17y 9x + 2y + 22 = 5k

& atytz=ik @
rry:z=1by:y: 17y

=15:1:17

i
N

@-0O&b zz%k
@-@&h z=3k
@-®&h y=3k

[N
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